Perform the indicated operation. Write your answer in standard form. ~
z,
1) (77 + 57 + 50) + (4 + 8~ 7r%) ) (2% +a-24") - (3-a—7a°) Se +2274da ¥
- - '52:-."-}-_4:—;9"’-!-'5 -\—a-\-’]‘&—}"
“Tr TR S AT S e
3) (3+3x2=5x)—(5x2+ 1 +7x) 24))(x3 —3+8x) +(-2x+3x" - 8)

Hx® 3 lox — Il

5) (-1 +2a+5a%) - (8a° + 3a° +3) 6) (-5n* —7-2n*) —(-3n* - 7n* + 1)
7 (x* — 8x+2x%) + (8x* — 8x% — 7x® —4x) [8)1(8 + 3m° + 6m) — (- + 8m* — 7 — 3m?)

B " Flm £ =B + T+ Im

— ST B T + 15

(—2v +6+ vz) + (v - vz) + (—'."v2 - Sv) Sv3 + 4v2) - !—5\;3 +2v* 4 7_) + (6v - 5v4)
7w -4y 46 SV 1Uut S0 =21 + v SV
<70 H10UC 40T rLv =T
11y 2(56% + 26 - 5) 12) §p(2p> +2p-2)
il N Y] . > .
[D bF : :_b e B:nvm.'&l ] ls-'non-hl KFP 4“'? !bP
FoT L = ¢ -
13) (5{@ 14) (@ LI =2 FUAK = 1Y
r2 Gle™ +ruole-14

—I|spr-aSpe-24p - 4O
P —IS'pL-’-!"PP'-‘-(D

@(Sm- a)-2m+7) Q6D (4p+4)(p+8)
—lom> +4Im -2 Y HYp* +3lp + 30
@Bk—z)(Zk—ﬁ) (a8)(-8x - 1)(2x + 8)
1LY —“olc +1x (X~ Lbx -3

19) (-81-7)(2n +6) 20) (x-4)(-7x-1)



